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Which one of the following scale has “true zero” point?
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4 Ratio
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What type of data is the Temperature measured on Kelvin scale?
Options :
4 ¢ R,ﬂt»i(_)
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Consider the two events A and B. Which one of the following is always true?
Options :

1 P(ANnB) < P(A)
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oo sneden(events) A,B £ SDHJN S & 308 eI JVDVETPIBIIB DB?
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o P(AanB) = P@A)
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Which one of the following i1s a Random sampling method?

Options :



5 o Systematic sampling
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In a particular university, the number of research scholars in different sub jects are given below:

Subject Number of research scholars
English 15
Hind1 10
Sanskrit 5
Mathematics 25
Physics 15
Chemistry 25
Statistics 20
History 5

If we represent the above information using a Pie chart, the angle of the slice representing
the research scholars of Statistics will be

Options :
2 v 60°
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Which one of the following 1s NOT correct?
Options :

o il The percentage is the proportion divided by 100.
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& So& TrggaNees’ LB ( not correct ) & ?
Options :

5. i D@ ( Proportion ) D 100 & 208 7°d0 H0b.
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Consider a population of eleven households, say a,b,c,d. e, f.g,h,i,j and
k. If a sample of size 4 1s to be chosen using circular systematic sampling, which one of
the following CANNOT be a sample?

Options :
3 J gkbff
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3 o gkbe

Question Number : 8 Question Id : 47163917015 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The age of 1000 students studying in an Indian university is classified as follows:

Age (in years) | No. of students
17— 22 500
22 — 24 250
24 — 30 150
30— 35 72
35 —40 25
40 — 45 3

We represent the above information using a Histogram. Let the heights of the rectangles

representing the class intervals 17-22 and 35-40 be hy and ha, respectively. Then, 2—'} 1S

Options :
>« 20
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The following pie-chart shows the percentage distribution of the production
of mobile handsets in India by a leading company during 2014 to 2018.

>
2016 01"

2014

If, in the year 2015, the number of handsets produced was 345 thousand, then the pro-
duction (in thousand) for the year 2017 should be

Options :
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The following table shows the frequencies and cumulative frequencies of

the waiting time (measured in minutes) between eruptions of the Old Faithful geyser in
Yellowstone National Park

Minutes | Frequency | Cumulative frequency
< 50 21 21

50 — 60 56 7

60 — 70 T 103

70 — 80 77 y

80 — 90 80 260
> 90 12 272

The values of x and y are, respectively
Options :

I 26 and 180
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Daare’ Foodedd SADYED &) Dbser sroaw (Waiting time ) o3oogy, rd: YRR, :

DTgO ( Cumulative Frequencies) & Sod begsé‘ QIEEIE.

DAawaren Frd: DIgED | Do D
R0
<50 21 21
50 — 60 56 77
60 — 70 X 103
70 — 80 77 y
80 - 90 80 260
=90 12 272

X 2080 y & aing), Densen (gavorr)

Options :

| 26200010 180
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Let E and F be two events with 0 < P(E) < 1,0 < P(F) < 1 and
P(FE)+ P(F) > 1. Which one of the following statements 1s true?

Options :
- ¢ P(E|F) > P(F°|E)
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EandainF en Boc nerden (Events), 0<p(E ) < 1,0 p(F ) < 1s08a30 p(E )+ p(F)

= leodoEotro. & Sod e’ DaaDd Ddo (Statement):

Options :

. v PEIFZP(FIE)
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A person makes repeated attempts to destroy a target. Attempts are
made independent of each other. The probability of destroying the target in any attempt
1s 0.7. Given that he fails to destroy the target in the first four attempts, the probability
that the target 1s destroyed in the 7th attempt is

Options :
Question Number : 12 Question Id : 47163917019 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

28 958 a8 B (target) o oo (destroy )Bainercd Q0L D6 DO S0 BOIVET™) (2. DO DD 28
TrDEEE Dtogaaen (Indepndent). & gmlmxs‘ LB 3500 VoKV Dozyed (Probability) 0.7 esox
&) 6. 2068 Trend  Habe) awwe’ DB Grono BB DND0ES” eBH Ddeo (Fail) Londen REES 7
D HODSB) e 9B DO G000 BOIDIL DOZPIYE.
Options :
5 o 0.063
Question Number : 13 Question Id : 47163917020 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33
Let @ and € denote the empty set and the sample space, respectively. For
any two events A and B, which one of the following is always true?

Options :



_P(AnB)> P(A)+ P(B) -1
4 ¢
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0 20801 €0 E00NT FPSF DS (emptyset)BoiwardBeosTwa(Sample Space)

£9:308 0570, DNTo seyden (Events)A, Bor) €300 Daa0.

Options :
P(ANB) = P(A)+ P(B)—1
4.
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A car part 18 produced by three factories Fy, F5 and F3. Their propor-
tional production is 30, 30 and 40 percent, respectively. Also, the percentage defectives
manufactured by three factories are 4, 3 and 2, respectively. A part is taken at random
and 1s found to be defective. The probability that the selected part belongs to factory Fj is

Options :
1. ¢ 8/29

Question Number : 14 Question Id : 47163917021 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

28 TP eg”m:)‘l Fy.F2.F30000 203760 Somprrodmen (Factories) e3035h BJron, 76 edaird C30E), DB
gaoore 30, 30 208030 40 Bredaanen. e30ird e5%Hawen (defectives) Savore 4.3 208030 2 Feesawen. 28
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i W 8/29
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The following table shows each family of a survey, classified according to both their family income

and the level of happiness:

Level of Happiness

Tagome Not too happy | Pretty happy | Very happy Total
Above average 36 213 111 360
Average 81 506 263 850
Below average 173 377 110 660
Total 290 1096 484 1870

Consider the following statements:

[. The percentage of the families who are having below average income and are very happy is 5.88%.

II. The percentage of the families having above average income who are not too happy is 10%.

The correct statement(s) is/are

Options :

ONLY -1
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Consider the following statements:

I. Response biases are common to both complete enumeration and sampling methods.

II. Interviewer biases arise when answers are given after getting suggestions from the
imterviewer.
III. Observational biases cannot occur in complete enumeration.

The correct statement(s) 1s/are

Options :
I W Only I and II
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& S0 pOvTON awEorro.

I VoY TG), (Complete enumeration) 08030 HBETD SN DGBRD

(Sampling methods) Bociot) 0ok PeBFEIs D& Jesaw (response bias) e
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1. 201 &), ( Complete enumeration) &5° HBIHL 20LIBODD
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| o | 0Baw Il argdo
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The standard deviation of the marks obtained in Statistics by 101 boys 1s
found to be 12. Then, the standard error of the estimators of the population mean for
a simple random sample of size 20 taken with replacement and without replacement are,
respectively,

Options :

5 1.24/5 and 1.08/5
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101 2008 De§hHos Jropgs TR (Statistics) &° DS ey © e dSwo.

(Standard deviation )12 e900:08. 20 DO (&) DOV O3PS DB Do
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Options :
1.2 V5 2vdain 1.08V5
2.V
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Consider the experiment of tossing two unbiased coins. Let p; be the
probability of two heads given a head on the first coin, and py be the probability of two
heads given at least one head. Then

Options :

=

1 P1= —1,- and ps =
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Dot DEre0 & (Unbiased) oreredn oo a3 (experiment) & &30 omro. 200GSTHE0 2 e5°a0)
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Options :

3 P, -:-:naom P, %
1.
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An urn contains 12 balls of which 3 are black and 9 are white. The
following game 1s played: At each trial a ball is selected at random, its colour is noted,
and 1t 1s replaced along with 3 additional balls of the same colour. What is the probability
that a black ball 1s selected in each of the first three trials?
Options :

1
4.4 20
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1

4. ¢ 20
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Consider the experiment of rolling two fair dice. Let A denote the event
of an odd total, B the event of single dot on the first die, and C the event of a total of
seven. Now, consider the following statements:

[. Aand B are independent.
II. A and C are independent.
II1. B and C are independent.
The correct statement(s) is/are

Options :
5  Only I and III
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Bocd ¢ (two fair dice )ordd &80 g;cmw.‘l)‘l 208 otro. ErAE 82 208 ?.‘)0'3)5 2085 (Event) &0 A 09D,
20D DS P 28 28, Y, DBy 2D B 9D, 208050 ErEE 7 D D005 C edoforro.

& 508 DTN SRAE oTro.
l. A s0Bo3» B en Ddyedogssnen (independent events)
1. A 0805 C en Ddyesogsnen (independent events)
. B s08ain C en dxesognen (independent events)
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| 08030 11l Sseesan
2. B
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Consider the data set given below in the form of frequency table:

x|—25| =155 5 |15]|25]|35 |45 55
f 1 10 20 | 30 | 50| 80 |50 (30|20 10

Let a, b and ¢ denote the mean, median and mode of the data, respectively. Then

Options :
. a=b=:€
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f | 10 20 | 30 | 50 [ 80 | 50 [ 30 | 20

20°08 (Mean). 0G0 (Median) exs>owEan (Mode) oo a,b,c 99 S0t B, )

Options :
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Consider the following statements:

I. Medain is not influenced by the presence of extreme values.

[I. The sum of the absolute deviations of observations from median 1s maximum.
The correct statement(s) 1s/are
Options :
1 « Only I
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Consider the data 2.5,22.8,23.2,33.9, 34, 55,65.7,69.8. The first (lower) quartile 1s

Options :
2 v 23
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Options :
> & 23
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The geometric mean of six observations is 60. If we divide each observation
by 3. then the new geometric mean is

Options :
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250 HBIVRR (DEs Dcsgo (geometric mean) 60 E oo, P HBILIW 3 & 2rHY

D3y £ b auegvo (New geometric mean)

Options :
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A train runs with a speed of 80 kms per hour for the first half of the way:.
Then, the train runs with a speed of 120 kms per hour for the second half of the way.
What is the average speed (in kms/hour)?
Options :
5 96
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208 DR TP DG Drfo Ado (ToLd 80 $65° Mg Drio HOIFEIRA. Tokad Wrfo

AG0eS” (102 120 e5° 20808 Drfod HOITEIR0AH. VOB Driaw (Fotcd — 8¢5° Mexges®)

Options :

2 28
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Consider the following statements:
I. The harmonic mean gives the largest weight to smallest observation.
II. Geometric mean can be calculated for the data containing any real number.

The correct statement(s) is/are
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Consider the following data related to the sales of 100 companies:

Sales (¥ lakh) Below 60 | 60 — 62 | 62

No. of companies 12 18

64 | 64 — 66 | 66 — 68 | 68 — 70
30 10 3

=1
o

ro| |
-1
)

bo
(Vg §

The median of the sales (in Tlakh) 1s

Options :
, ¢ 63.6
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
£06 Bend B 100 P DR GEro3NN BnEorro.

|
~
~N

VRS (gee’) | 60 o) YD ’ 60-62 | 62-64 | 64-66 | 66-68 | 68-70 | 70

TFFCR0RO Doy 12 ’ 18 25 30 10 3 2

A5 Al Soesfiesan (Median) (erg00e5° )

Options :

5 63.6

Question Number : 28 Question Id : 47163917035 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



Consider the following statements:

[. Arithmetic mean is influenced by the presence of extreme values.

[I. Geometric mean is highly useful in averaging ratios and percentages.
III. Median 1s invariant under the change of origin.
The correct statement(s) is/are

Options :
i @ Only I and I1

Question Number : 28 Question Id : 47163917035 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
& Sob PSBTrBI SanEomro.

1. DEDDB DeDOO SO 08 G (Arithmetic mean ) Hardoo (Influenced) e9aHe00d.

II. D0y@ (ratioJen dain Feevaw (Percentage) e DTZ0 S030ee5” (s SDE§EAD

(Geometric mean) D& O &DAIT( DEIBVD.

1. Sore) Do) (Foranreraw) (origin) o QUPEON) T°(0° SDC(IED) (Median) &660.
HBADD HOTBHAED:

Options :

l208030 11 S
1. v

Question Number : 29 Question Id : 47163917036 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
[f the geometric means of the two sets, both of n observations, are G; and

(55, then the combined geometric mean of the two sets is
Options :

5 (G]GQ)I"/Q

Question Number : 29 Question Id : 47163917036 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

ot G5EPos DAV HBIDR Doy N 901, T (HEs MEFEreD Gadas G,

2 900063 ot DAEBED EOINDINED Doaing (Combined) es 06§00 (Geometric Mean)

Options :
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Question Number : 30 Question Id : 47163917037 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
A toy factory has assigned a group of 4 workers to complete an order of

1400 toys of a certain type. The productive rates of the four workers are given below:
Workers A|B|C | D
Productive Rates (minutes per toy) | 4 | 6 | 10 | 15

Assume that each worker works for the same amount of time. Then, the average minutes
per toy by the group of workers is
Options :

6
1. ¢ 67

Question Number : 30 Question Id : 47163917037 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
28 eS" e Sasrd DT (toy factory)denr DA Sroghs 65°08 Bod 1400 ey
38 BainDD 9yAodod. DTV EPared B8 DAY Socd HQEES’ Focd HEVod.

DT A B & D
S01°0 Do 4 6 10 15
(&nggb 50 &

Daren )

29 DIATPE DA B VOO VEATPHDAD. DATFOEHD SR D) BRDDED e..»%"bsb
e5°0), 3388 6 HO0B SO (DdwnHees’)
Options :

6
1}/6;

Question Number : 31 Question Id : 47163917038 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Let X be a random variable such that E|X| < oo and

o1 —
P (,-\ < ik l‘) =P ('\ > B I) for all z € R. Then

) J

Options :

E(X)=; Median(X) =

U]

J(I.—o
7
ot
—
~
Pt

1. ¢



Question Number : 31 Question Id : 47163917038 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
I )

Correct Marks : 1 Wrong Marks : 0.33
(29 x ER £)wohiernr &d) alrd8 (random) Seoe3 (variable )esuEoaro. Q)

C_'!I —_—

] )
X 002058 E|X|< o0 sodasn 1 <-\ S +.r) =P (_\ >

J

Options :

E(X) =1 and Median(X) =

S

1. ¢

Question Number : 32 Question Id : 47163917039 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Let the random variable X has the probability density function

> 1,

0. otherwise.

Then, the first (lower) quartile of the distribution is

Options :
4/3

Question Number : 32 Question Id : 47163917039 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

XeoZ0a3rGSyedy 8 eoe3 (random variable )a3ns), oerages 0B HAODAD

1 -
(Probability density function) PR ey 1 < rig- i 9

=
0, otherwise.
e0E otro. Q) e Deresdo (distribution)cng), 2006ed &L (lower) wedogeso (quartile)

Options :
4/3
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Correct Marks : 1 Wrong Marks : 0.33



Let the random variable X has the probability density function

.') -
=T e 8

fx(z) =

0, otherwise.
Then, the first (from the lower side) decile of the distribution is

Options :

“f3

2. ¢

Question Number : 33 Question Id : 47163917040 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

Xeoso 037G\ 8 oo (randomvariable) 6308 DoerSiE® D

2003 (Probabilitydensityfunction)

‘)
f\"‘ i I >0l
0 0. otherwise.

200000 ©9Q)ED AEE (B DY) Aod) Deresdo cIwe), e33anLo ( decile of the distribution )

Options :

“f3

2. ¢

Question Number : 34 Question Id : 47163917041 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Consider the three sets of data
Dy = {17,112,116,121,135}, Dy = {7,12,116, 121, 122} and D3 = {20, 115,119, 124, 138}.

Let a1, as and a3 be the meadians of the data sets Dy, Dy and Ds, respectively. Which
one of the following is correct?

Options :

5 v a1 = ayg = ag — 3

Question Number : 34 Question Id : 47163917041 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



& $08 T BTPo? DD (setsofdata) Lo 08 omro.
D,={17, 112, 116,121,135 }, D, ={ 7,12, 116, 121, 122 } S0bosno D, = { 20, 115, 119, 124, 138 }

Dy, D, Dyo o3g), docsgrissaen (medians)a;, a;, a;e0 Eorro. & $08 78" DB DBEDD PIBHIW.

Options :

5 @ U =03 =0a3— 3

Question Number : 35 Question Id : 47163917042 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Let the random variable X has the probability density function
o5 o<z <50, 0>0

fxiz) =

0. otherwise.

Further, let D; denote the ith decile of the distribution, i« = 1,2,...,9. Then, (D3 —
Dy)(Dg — Dy) is

Options :
> « 862

Question Number : 35 Question Id : 47163917042 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Xeoso 037G\ 8 oo (random variable) d3g), Doarodym P08 Do (Probability density

function) o o
) (@) o <z <50, 0>0
x(z) =4 " :
: 0. otherwise. e0Eoaro.
Te=z) [ e Sy 9 09 i— S Deresdo GIE), GFDC0 (decile of the distribution) < De9dM80ocHTTAW.

e (D, D,) (D D,) 9058
Options :
> o 862

Question Number : 36 Question Id : 47163917043 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

If the geometric means of the first set of n observations 1s Gy and that of
the second set of 2n observations is (9, then the combined geometric mean of the two
sets 18

Options :



N (e i

Question Number : 36 Question Id : 47163917043 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
2068 N HDOFDO DA G308, (e ELV0 (geometric mean ) 93058 Gy 08030 Bocsd 2n HBFeDe

e cﬁ:oe‘.b fghs] mqgmo 29 008 G, 290005 Do) HDAEL) o030 (Combined) e a)oga)o

Options :
(2. (12)1/3
5 i (G1G3)

Question Number : 37 Question Id : 47163917044 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

If the harmonic mean of first set of n observations is 2 and that of the

second set of 2n observations 1s 6, then the combined harmonic mean of the two sets 1s
Options :

1.v 3

Question Number : 37 Question Id : 47163917044 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

QG N HBIVDe DR AO0E), TR S VR0 ( Harmonic mean); 20003 Boctsd 2n HBFwSe)
QDD CIWE); TS QEEAD 6 290008 & Bocd) WL WooINY STOERLE DGV

Options :
1. ¢ 3

Question Number : 38 Question Id : 47163917045 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Let the random variable X has the probability density function

fx(z) = % if 3 <z <4,

0. otherwise.
Then. the harmonic mean of the distribution is

Options :

74

2 N Of
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Correct Marks : 1 Wrong Marks : 0.33

2,8 O3PS S0 (random variable )x @), VOO Jroe HDanoLa (Probability density

function) ’;';T'; if3 <z <4.
Txlz) =3 = : 2908 o0.
0, otherwise.

0D Dewasado ( distribution ) 03, 707y S Sesga0 ( Harmonic mean) ---

Options :
T4
2.V 9]
Question Number : 39 Question Id : 47163917046 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

Let the random variable X has the probability density function
1 1

f\(l) - In3 zlnz? .
0. otherwise.

ife<z<ed,

If G denotes the geometric mean of the distribution, then InG is

Options :
2

o ¢ In3

Question Number : 39 Question Id : 47163917046 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0.33

28 QIPEINS IOTD (random variable )x L), VoI Jroged Pa0onAW (Probability density

function)

T e .3
fx(z) = 3 zhzr ife<z<e’

0, otherwise. e 508 oto.
G 29058 deraado O3208), (DEBE[00 ( Geometric mean of the distribution) & ©raY. 9 1.G

Options :

2_\7@
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Correct Marks : 1 Wrong Marks : 0.33



Let the random variable X has the probability density function

1222(1 —z), if0<z <1,

0. otherwise.

Then. the mode of the distribution 1s

Options :

wire

4. ¢

Question Number : 40 Question Id : 47163917047 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

€ Q1GNNS ST D (random variable )x AE), VOO JroGed Pavoa (Probability density

function) 1222(1—1z), f0<z<1,

fx(z) =

0. otherwise.,

2900 DeTPeP Do B, esoveo(Mode of the distribution)

Options :
2

4.¢ 3

Question Number : 41 Question Id : 47163917048 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Consider the following statements:
[. A distribution is skewed to the left if the left tail is longer than the right tail.
II. A distribution 1s skewed to the left if the right tail is longer than the left tail.
Which of the above statements 1s correct?
Options :

1.*:?1

Question Number : 41 Question Id : 47163917048 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



& S0b DIVTOD S ot

. €od ¢ (right tail)So8 o §'¢ T JLD ol &5 Darasdo A IED DL

eorR0an (skewed to the left) evotran.

Il s ¢ (left tail) Sold O §'S Feiad) JLD ol &8 DeTrardo A IED PR
ea%"%ban (skewed to the left) esotaa.

2 D990 DBTDIE DO ?
Options :
!
Question Number : 42 Question Id : 47163917049 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Given that the mean and the standard dewviation of a distribution are 25
and 4, respectively. If Karl Pearson’s coefficient of skewness for the distribution is 0.75,
the value of the mode 1s
Options :
o o 22
Question Number : 42 Question Id : 47163917049 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

28 Dereacdo I, DTG B0k Daree Duswdo(Standard deviation e Evore 25 20Bosn4.

& Daradod £ w%"gm (Skewness) ot*bos‘,b g6 Howd K).SD (KarlPearson’s) teegan 0.75

290008 e70%E0 (mode ) AB3E), Dewsd ----
Options :
5 22
Question Number : 43 Question Id : 47163917050 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

Let the random variable X has the cumulative distribution function

. * 1 £ 420500
F.\’(IJ = / > 6‘_’-’“_3" dt. —0< T < 00.

oc LT

Then, the coefficient of skewness equals



Options :
1. ¢ 0

Question Number : 43 Question Id : 47163917050 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Xeocd> Q3N S G003 (random variable) A30E) VOIS DT PO

(Cumulative distribution function)

A l | I a
Fy(r) = / e 2=, —o0 < 2 < 0.
' V2T

29508 o0.

(234) (b @3‘9@ roegan (Coefficient Skewness) -------- &£ DaTeDo.

Options :
1.¢ 9

Question Number : 44 Question Id : 47163917051 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The variance of a distribution 1s 36. The values of the fourth central

moment (z4), in order that the distribution be platykurtic, should be

Options :
less than 3888
\/ O

-
e

Question Number : 44 Question Id : 47163917051 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

28 Dereado I DS (Variance) 36. QD SofHom g (Central moment) ( ) es Deraado Herd
Soranco (platykurtic )96335@ QD Sofab e3¢ Central moment) ( L) C30E), Deden —=---

Options :
_ 3888%06 @Q)Z’D
3, W

Question Number : 45 Question Id : 47163917052 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



[f mimimum, first quartile, median, third quartile and maximum of some
data are 100, 110, 115, 160 and 220, respectively. Then, this data corresponds most likely
to a distribution that is
Options :

5. o skewed to the right

Question Number : 45 Question Id : 47163917052 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

28 oerodo (data) TBE), 9B SEN D (@&Dg).meb DBOT0B0, SDEHIBD, STED Q&)gvo%ombcnp
29 e & (ABHen) S 100. 110, 115, 160 S0Basw 220. & Ggrodadn —-=--- DeTP2DINHL

DOIDEDD) B.
Options :

DD OJHDAD
>

Question Number : 46 Question Id : 47163917053 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Bowley's formula for measuring skweness in terms of quartiles 1s

Options :

Qa3+0Q1-2Q2
3 Qa—CQ

Question Number : 46 Question Id : 47163917053 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
waogrozre (Quartiles ) Derees’ e.o:?"’t;qae:& (Skewness) S Eency e7°¢F aredo (Bowley Formula)--
Options :

Q3 +0Q; —20Q;
Q:— Q1

Question Number : 47 Question Id : 47163917054 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



One of the defining features of a smartphone i1s how long it can stay in
standby mode on a single charge of the battery. Based on data from smartphones available
from major cell phone carriers in the United States in 2014 (and relying on the fact that a
manufacturer’s claim of the standby time is accurate), the distribution of the standby time
approximately follows a normal distribution with a mean of 330 minutes and a standard
deviation of 80 minutes. What percentage of smartphones have a standby time below 230
minutes?

(Given that ®(1.25) = 0.8944, where ®(-) is the cumulative distribution function of the
standard normal variate.)
Options :
DELETED

Question Number : 47 Question Id : 47163917054 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
28 B eredd o BY Jodd DY) €000l DB S D oL, w8 GCLAW. 2014 &° AVDBE Py &°
GTP0B0 RITPCOTT, Doed DY) T &otolSes oo g, Derado (Sarsdor ) 330 DAVEFL) DO
Frardy Derado (Normal distribution) &, 80 daware P Dsedo (Standard deviation) & FBRA.
230 Daware o 953, SPOAW &oZ 265 FS o v doed ? [D(1.25) = 0.8944e0D faase.)d:)&.
araredd 3":1)".65 D560 (Standard normal variant) 03g), ©oded Dered 2DOOIPDY @ (.)e2d DBGo.

Options :
Uooooogoondooo

Question Number : 48 Question Id : 47163917055 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

A company has three sections A, B and C' with 40, 50 and 60 employees,
respectively. Their average weekly wages are ¥400, 350 and ¥540. Their respective
standard deviations are 5, 7 and 9. Arrange the sections from smallest to largest varability
in wages, relative to their means?

Options :
3 ¢ “43 Cvs B
Question Number : 48 Question Id : 47163917055 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

28 SO0 €5° ST wTren AB S08akw ¢ e, gavore 40, 50 20dasn 60 e&§ien &) 6. 58
TG0 — BP LoD Bevo 400 ar||en, 350 6| [en.208050 540 6| |en. T8 oIwe) Pared
Desoren (Standard deviation) Savore 5.7 <0803 9 . 00 HTOS Doerodsorr 08 Sererest NS B

(Largest)owso (variability) ooc BEN S (smallest) re 2>rren A,B.C & esmo‘)od.



Options :
3‘ \_V A.C.B

Question Number : 49 Question Id : 47163917056 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

5 outcomes of a random variable were recorded. The sample mean and
the sample variance of the recorded data are 0 and 2, respectively. It 1s discovered later
that two outcomes were recorded incorrectly: one outcome was recorded as —3 instead of
—4 and another outcome was recorded as | instead of 2. What is the correct variance?

Options :
> o 4
Question Number : 49 Question Id : 47163917056 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

O3PS DOT°F TIVE), DED DLVDVRD T°aDE0 20N0B. BTFoT0 GIVE) B8 DTV (Sample
mean) QB0 ardd Dy ( Sample variance) en Savor 0 HBAIL 2. ST S0 G030 &5°D
B0 DeNV BT (incorrect) TRNED (DL, -4 {1 -3 (D, Tocdd 2 2xcden 1 (1
Tromco 28008, SANBRD DY@ (Correct Variance) doed ?

Options :
2 ¢4

Question Number : 50 Question Id : 47163917057 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Let X; and X5 be two random variables with Var(X;) = 1, Var(X,) = 2
and Cov(X;, Xs) = 0.25. Then, the variance of X + 2X5 is given by
Options :
Question Number : 50 Question Id : 47163917057 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Var (X;) = 1, Var (X;) = 2, &08o3» Cor ( X; X,) = 0.25 €9030§€2620 ToCD Q‘D‘C’)éz‘.’.)()g DTN

X]_ XgQ)K\) @‘c'\l)goa"o. @:Q_)C_) X|+ 2X2 (ﬁl)gb:_);’_\.)ba ( Variance) ______

Options :
2 v 10




Question Number : 51 Question Id : 47163917058 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Consider the following statements:
I. The range of the data —5, —3,—10,5, 10, 35 1s 45.
[I. The range is invariant under the change of scale.
III. The range 1s invariant under the change of origin.
Which of the above statements 1s/are correct?

Options :

Only I and I11
3.V

Question Number : 51 Question Id : 47163917058 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

& 00 DIV € orro

l: derozo -5, -3, -10.5, 10.35 @& IR (Range) 45.
lI: S0 (Scale) o Doetn® HOD IR TG (invariant).
lHl: ooreran (Origin)o SN HOD TR ACE.

2 DDA’ IB/ DD HBAHD

Options :

| S08as 11l Soeesmd
B. W

Question Number : 52 Question Id : 47163917059 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Let X, Xo,...,3 X, be 1.1.d. N(3.25) and let Y; = X ‘__.:3. b= LBy n.

Then, the distribution of Y7, Y. is

Options :

_ positively skewed
3 ¢ :

Question Number : 52 Question Id : 47163917059 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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b, D, < R X, ev iid.N(3,25) 80 ¥; = X2 i =12..., 1. e owro
o YT Y,.'-‘ 0308, Deresdo (distribution) —----------- 9:0)e3008.
Options :

Gres) Sorr e:)f%";eg{;)ap (Positively Skewed)
2V

Question Number : 53 Question Id : 47163917060 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Let X and Y be such that X = 2Y. If the median of a symmetric
frequency distribution of X is 50 and the coefficient of variation is 40%. then the variance
of Y 1s
Options :

3 100

Question Number : 53 Question Id : 47163917060 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
X = 2y eocixeotn X Q08050 ¥ 00 Ghnflorro X alng) e D: DF Darado (Symmetric

Frequency distribution) otn)gb mqn@.n» (median) 50 208ai» D360 (Variation) o’ijosb RS0

407 008 y cdng), D@ (Variance) -------- £9:)E008.

Options :
3 « 100

Question Number : 54 Question Id : 47163917061 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Let X;, X5, X3 be a random sample from N(u. 1), p € R. Let

. .~ 3
X14+4Xo+9X3 1 : 9
= = ; T_):—\/EZ(-\:-—II) :

i=1

and Var(T;) = o2, i = 1,2. Which of the following is correct?

Options :

.)\ .'-)
5 & 01> 02

Question Number : 54 Question Id : 47163917061 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0.33



N(p.1), pe R 30c Xy, Xy, X3 e aireydys 0°@0 (random sample) esdo&ocro.

; . . 3
X1 +4X2+9X3 B 12 .
Ii= 7 ; T‘.}—% iz}(-\i.—#) ;

8o Var(T)) = o7, i = 1,2. 008000, & 08 72¢° DO HBEHIE ?
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Question Number : 55 Question Id : 47163917062 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

One of the patients in the ICU study had a high systolic blood pressure
of 204 mmHg and a low pulse rate of 52 bpm. Which of these values is/are more unusual
relative to the other patients in the sample? (The summary statistics for systolic blood
pressure show a mean of 132 and standard deviation of 32, while the heart rates have a
mean of 99 and standard deviation of 27. Assume that the distributions are normal for
both the blood pressure and pulse rate.)

Options :

High blood pressure
L.NE

Question Number : 55 Question Id : 47163917062 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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ICU e5° 202 2 B63 Jey 6gen (blood pressure) 204 mmHgoBo 38y S ¢ e (pulse rate )

goc. Aa0S"D MADD Brver & TFO\HE & Dewdewes® IB/ID ILyD eFraromaw (unusual). (65 Few
D065 FoagsTR) Somy 65w HomHB (132 20Bosw HATRDDRD0 32, Mok Eened (heart rate) D00
99 B0t HATBDBVD0 27. 6% Few, Td e Bodotd AR, Dasad e JrarrsgEw (nomal) e e owro).

Options :

e, 6gen(high blood pressure)
1. ¢

Question Number : 56 Question Id : 47163917063 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Consider the three random variables X, 5X and X /5. where X ~ N(5,3).
Let vy, vo and vg be the coefficient of varations of these random variables, respectively.
Which one of the following 1s correct?
Options :

o W=V =13



Question Number : 56 Question Id : 47163917063 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

X~N(5.3 )y ored o‘irc:)b&)‘)s weooeaven (random Variables) X, 5x sn8aoin X/ 5 oo
S8 00, € QPGS SOTPIL MY Dooere (eesten ((Coefficient of Variations)

EQ00TT V4, V5 aDB0ID V3 e00Eotro. & $08 e’ DB HBIDIA.

Options :

? — —_—

1w 11702

Vs
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Let v; denotes the coefficient of variation of the distribution of X;, where

A ~ Bin ((z’ L4 %) i = 1,2, 3. Which one of the following 1s correct?

Options :
DELETED
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X;~Bin((i+1)23).0 =1, 2, 3 exclogotndy Xje aiog) Dasade oo, dooere mese (Coefficient of

Variations) &0 ;2 dgro.

& 208 °e5° DB HBHILIA.

Options :
Uooooooooooon
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Let the random variable X has exponential distribution with mean 1.

Then, the IQR of the distribution 1s

Options :
DELETED
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Q3PN S ST X ©9R0DG DT0 | & woreros Derado (exponential distribution) o £®8

ol & om0, Do ML), oErges6 (the IQR of the distribution) ------ 29:)E0008.

Options :
gooooooooooog
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Consider the three data sets given below in the form of frequency tables:

x |£ x: |4 x | £
-3 |1 5 |1 111
—212 4 |2 2 |2
—113 3. |3 3|3

0 | 2 |4 44

1 |3 1 |5 515

2 2 0|6 6|6

S 1 —1|(7 i ¢

Let 1, 70 and 3 be the Karl Pearson’s coefficients of skewness of the above data sets,
respectively. Then

Options :

o N = 0,y >0and 3 <0
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TN DYS 600 S063 RDIWEAD ST BEPoF DA (datasets) M HioEomro.

x £ < S x | F
—3:11 L I | R |
-2 12 4 |2 2|2
—11(3 5 N R 313
0|5 2 |4 4 (4
1 |3 L & 515
g |32 016 6|6
3 |1 —1|7 Tk

& GTPoF DI L), IPPOIL (Skewness) alng), £§ Do S deasrew (Karl Pearson's Coefficients)
SOOI Y1, V2e00050 Yz e e90E om0, 9D

Options :

- Y1= 0,y2>0 Feblolenhb) ya< 0
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Consider the following sets of data:
Dy = {15,15,25,25,35,35.45.45} and Dy = {10, 20, 30, 50,60, 70, 70, 80}.
Let 3y and (35 denote the Bowley's coefficient of skewness of the data sets Dy and Ds.
respectively. Which one of the following is correct?
Options :

2 Bi=0,p<0
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& Sod BTros LA (data sets) O BREowro.
D,={15, 15, 25,25,35,35.45,45 }a0Bo3»
D,={10. 20. 30. 50. 60, 70. 70, 80 }

Dy08050 Do a3g), eg?fj”gaan (Skewness) a3€), &9 rragand (Bowley's Coefficient) e B, awdosn

B2 0P S00m Bgro. & $08 TP B VBELIA.

Options :

3 Bi= 0.B.<0
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If the correlation coefficient between the heights and weights of 49 boys 1s

—: then the probable error of the correlation coefficient will be
Options :

0.6745

2. 16
Question Number : 61 Question Id : 47163917068 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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49 2008 S0ffe) T°0GO30E), 280 S0B0ID LD 06§ RD® Do2IoBE (eSS (Correlation Coefficient)

% 90 0Er0. INED VT VL0 (DHEE 3L Doz &0 (Probable error ) ------ 29:0)eR008.

Options :



0.6745
ey 20
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Consider the following statements:
[. The point-biserial correlation is a special case of the product-moment correlation.

II. In the point-biserial correlation, one variable 1s continuous and the other variable 1s
binary (dichotomous).

Which of the above statements is/are true?

Options :

3 o Both I and 11
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& Sob DOVTOD e3E otro.

l. Dot — &Y DD DI® Doeoco (Point-biserial Correlation) e950358 SN grag D3 Doedocso (Product —

moment Correlation) O30E); wE 99359 ROCGHD.

1. Do — &5 DA D Poexocso (Point-biserial Correlation) Hoc 2u€ weroed ?_‘):)x:)()c'b‘lm) (Continuous)

20803 BT BeTrd anorfan (Z8e0D,dichotomous). 2 73e5” Hasda0(en)

Dedga (true)?
Options :

ls0803» 1. Bocodr
3
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Let X and Y be two random variables. Further, let X* = X + 3 and Y* =Y/5. Then

Options :

i i Cov(X*,Y") > Cov(X.Y) if, and only if, Cov(X.Y) <0

Question Number : 63 Question Id : 47163917070 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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X.Yew Boch AIPGyDNE DT HIRD B0 X = X + 3 dndai Y+ = ¥/zemEomro. exne

Options :
Cov( X+, Y*)>Cov (X, Y)= Cov (X, )< 0
4.
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Following are the data related to the temperature on a particular day at
six places of Hyderabad measured by two different instruments:

Place A B C D E F
Temperature (in °C’) by the first instrument (X) |35 32 34 36 33 35
Temperature (in °C’) by the second instrument (Y) | 34 31 33 35 32 34

The correlation coefficient between X and Y 1s
Options :
z. ¢ 1
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28 822 Bocd D DD HBLCAVVE FTETrercd &7 36 PoAVES &t DEBoD GEroda S0

WA eoB A B C D E F
2O HBLCHD
(X) & eFas(°C) 35 32 34 36 33 35
00G00886:50
(Y)&FeTge(°C) 34 31 33 35 32 34
X 208050 Yer 263y D: Doeos rxxasan (Correlation Coefficient) ---- e)e0od.
Options :
3. v I

Question Number : 65 Question Id : 47163917072 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The correlation coefficient between X and Y is r. Define U = X/2 and

V =Y/3. Then, the correlation coefficient betwenn U and V is

Options :
1.« T
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X 208050 Yer 20655 25 20806 Hrsan 1. U = X/, anboin V = ¥/, dogderaw.

293¢ UsnBoin Ver 0y R doeods reaga ( Correlation Coefficient) ---- ea)eod.

Options :
1.4 7
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Let X ~ N(0,0?), where o is a positive constant. If Y = X, where n is
an even number, then the correlation coefficient between X and Y 1s

Options :
4.¢ 0
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0 208 6 6 T°2 08k X ~ N (0,07) 9:060TR0. N 900G 208 HBDoS 0Bk Y =X" 0B X 08akn Y

© ) VI® o0 (DESDD ~=== €9a)E08).

Options :
4.¢ 0
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,ne {0,+1,+2

U] -

Consider the random variable X with P(X = n) =

Let Y = X2. Now, consider the following statements:
[. X and Y are independent.
II. X and Y are uncorrelated.

Which of the above statements is/are correct?

Options :
5 « Only II
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P (X =n)

"
w| =

N E {0,£1,32 } eoclogertn:dy € areyNS weoord (random Variable) X & Siofozro.

Y = X¢ esdo€orro.
& Sod PIVTOVN eLE otro.

l. X a08030 Y en dgesogaven (Independent).

I1. X 308030 Y en D Hoeodd daretaanen (Uncorrelated).

2 DDA HBADIA (D) D ?

Options :

[l Soeesan
2. W
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- - - - 9 X
Let X1, X5, X3 be a random sample from N(0,0°), where o is a known

constant. Then. the correlation coefficient between X; + Xy and X5 + X3 1s

Options :

10 bt

3
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CROEICIVE T°F Xy, Xp, X;002056 N (0.6%)300d e S RaNANE Al (random sample) es:0F ozvo.

D X+ X,080500 X,+ X300 <0655 D3 Ddoeoed rdeedan ( Correlation Coefficient) ---- e9:2)e8008.

Options :
1

3. ¢ 2
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While calculating the Spearman’s rank correlation between X and Y, it is
found that the rank 1.5 1s repeated twice in the ranks of X, the rank 2 is repeated three
times in the ranks of Y and there is no other tie in the ranks of X and Y. Then, the
g 9 5 g
corrected factor, which should be added to ). d; to calculate the rank correlation, is

Options :
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X 2080w Y & 206§ ’.030636 5)53&663 Do Dowocdo (Spearman’s rank Correlation) g9,
DOTVINCD & S0 DHodTren BdDJon:

X cing), Edees® €& 1.5 ocd I Syob.

Y cwg), 0" £ 2 20 Jrgd SDNob.

X 208030 Y o Ederxst 3808 (tie) e 5.
DD £ I Voe0BANM G000 Y dF L) enHDRRD DDV TEEIW

(Corrected factor)---- e9:)e%008).
Options :
i 2.5
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Consider the following statements:
[. The value of the correlation coefficient does not depend on the variables” units.

II. The correlation coefficient does not depend on which variable is treated as the re-
sponse and which as the explanatory variable.

Which of the above statements 1s/are correct?

Options :
5 W Both I and 11
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& Sod DIVTVN SR orro.

l. QI oot (Heesandens (Value of correlation Coefficient) 92008 DOTPIVL DATETO
(Variable Units) 2 esorGHED.
I Il Q Seoed HDarao T anEotrase (Variable treated as response) <08030IBD DG w0

(explanatory variable )zrd3 20 o206 (DEEaeTPE DED.

DI DIVTS” DB/ DD DOGIG ?



Options :

l08a3 11, Bocddo
8.9
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Consider the following statements:
[. A scatterplot 1s a graphical display for two quantitative varables.
II. If the data points on the scatterplot are around a line, then there is always positive
correlation between the vanables.
Which of the above statements is/are correct?
Options :

1 o Only I
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& Sob) PIVTOD 3 oTro.

l. DB 0. (scatterplot) 9058 Bocd DBIrEFS S (quantitative) SOT 3R Tardd DOGHD
(graphical display).
II. DB 0AE 5D BTP0F DoNED 28 Tad O &0t DD €3 BIT HOR VG

OWejés Py Doeocio (Positive Correlation) QQ@DGJ" &otod.

2 DODBa00S" IB/AD HBIDIE ?
Options :
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An investigator wants to arrange the 10 items on her scale of language
impairment on the basis of the order in which language skills appear in development.
Not being entirely confident that she has selected the correct ordering of skills, she asks
another professional to rank the items from 1 to 10 in terms of the order in which he
thinks they should appear. The data are given below:

Items AB & D E F'G HE F J
Ranks given by the investigator (X) |1 2 3 4 5 6 7 8 9 10
Ranks given by the consultant (Y) |1 3 2 4 7 5 6 8 10 9

The Sperman’s rank correlation coefficient between X and Y 1s
Options :
31
Hial 0
Question Number : 72 Question Id : 47163917079 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0.33
DB &5° SADOB el DD BTPGOTP B 2rar Ewed (Scale of Language) p &or6HE 10 DRI
28 DOFVLTTED Y BODHIA. B PBFHI Lo J) I o Tor 3 0 0API0 e w8 0PI

(Professional) D & e9cfod. B3B3 S0t RIIC0H.

Aovawen (ITEMS) (A | B | C (D | E | F (G| H I J
DBIVDD (x) @Y | 1 2 |3 | 4|93 6 |7 8 9 10

Sao
Seligliizak(y) 13|2|4|7|5|6| 8 [10] 9
a3og), Sdvo
X 2085 Y © 06 ’.0301)6 é.)ébgeb 25 Doeocso ((Spearman’s rank Correlation) (Hega .......... 29:5)e008.
Options :
31
Bl 39
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Consider the following data:

z]1 3 5 7 O
y[1 11 10, —1 =%

If one pair of (z,y) values is removed, the correlation for the remaining four pairs equals
—1. Which pair is it?

Options :

. o (5,10)
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&1 So& BZroTy BRwEomro.

X 1 3 5 4 9

¥ 17 11 10 24 T

28 20 (x.y) Denden Fohd ADI Tred 23¢9 DI o200 (-1) 90N, e D 2aeh ?

Options :
. o (5.10)
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Let X and Y be two random variables such that X + Y = 3. Consider

the following statements:

I. Cov(X,Y) = Var(X).

II. Correlation coefficient between X and Y 1s —1.

Which of the above statements is/are correct?
Options :
-  Only II
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X +Y = 3 escgertnre X <08ain Y e Bocd oarc:so{:)‘)s OTBOLD.
& S08 DTV BnEotro.

l. Cov (X.Y) = Var (X)

Il X 20800 Y © 206 055 Ddoroceasan (-1)

2 RIS IB/ID PDBFHD?

Options :

5 WP [l Soeesa
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For which of the following data sets, it is appropriate to use the correlation
to measure the association between two variables?

Qg 1 =ZF F 4 z| 1 3
Dvibam 36 o0 37 ) 29 Dm0 10

(W24

(on] B |
SV]

Options :
5  Only Do
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& SoB DHWAED GEros dee (datasets) 05, D 61 G DDAV O BRTHOR

206§ "«oo&)ow.‘l)l Fenciderdd e Voo DS ?

X 0 1 2 3 4
D1:
Y | 47 | 36 | 24 | 37 | 48
208030
X 1 3 5 7 9
T Yy 18| 14|10 ]| 6] 2
Options :

5 o D, ar¢ian
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Let vy = 0.09, 7o = —0.38, r3 = 0.89 and ry = —0.81 be correlation values.
The correct matching of these values with the scatterplots given in the following figure is

(Scater piat's) Scafier Pict & fhar Pt 4 Scatter Pt &
23 2:q: X 2 3 23
1 e 1 3 ]5 13 .
] O v e ; sl 3 Jhe
> U1 : * > 0: a| ¢° > U; 0: N
. ~ - -
-1 Jo-1 -1 3 . -14 0+ %
23 . 2 23 23
TTTTTT T T T T T T T - T T ™ T L TT Y T T T
1 0 1 2 2 1 0 1 2 2 1 0 2 2 1 o0 1 )
X X X X
(a) (b) c) (d)
Options :

3 ¢

(Tl.*c)‘. (TQ-.a‘)a (7‘3,d) and (r-'!tb)
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ry=0.09;

r,= =0.38, ry= 0.89, a8t r, = -0.81, e doeos Densden (Correlation Values)
3065 DORICD 5" DYS Mol Sen (Scatter Plots) @RIEID. QD VDV DY o5
eSO DB 28 Er6yoc.

Scater Pat &

Scatter Py 1)

r

(=]

|
N

INTR NI IE N TR N TR F NN TS

Options :

3 ¢ (7"1. C') ; (rza), ()'3, d)@@@)(]‘p b)
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Options :
3.8 7

Given that the Spearman’s rank correlation coefficient beween X and Y
is 0.9 (when the rank 6.5 is repeated twice in the ranks of Y). If }_1* , d? = 5.1, then the
number of observations, n, is

Question Number : 77 Question Id : 47163917084 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.33
X 001D Y © QY ?\)306.)6 23353 §6) Do Doerosormesan(Spearman’s rank Correlation

Coefficient) 0.9 (Y & Efees® £ 6.5 o JO HVNIDEW) 9D RDWEID.
Zi" _,d7= 5.1,00008

»dIVJR (Observations) Doy n = ------

Options :
3¢ 7
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Consider a random variable X with the probability density function
_ & if —20<2<20,60>0
fx(zx) =

0, otherwise.

Let Y = X* and Z = X3Y. Now, consider the following statements:
[. X and Y are uncorrelated.
II. X and Z have the same mean.

III. PO<Y < 166*) =1.

Which of the above statements is/are correct?

Options :

All I, IT and 111
4. <
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X 28 0215"0;:3()5 POTRF B0 T A30E) oI JroGE DAoL (Probability density function)
) SR
fX(x) = 25 f —20<x<26;6>0
i U sihsriis 0000 el 0omro. Y = X'08owZ = X’y 9 & onro.
& Sod PODTON g omro.

l. X s08a30 Y en D Dot Garesaan (Un-correlated).
II. X s08a30 Y e 208 dordd S@ﬁcﬁn&)‘l&’).
N.p(0<y<168%)=1

2 RooTee’ DB/ HBADID.



Options :

. LllooBoso 1, ey .
4.

Question Number : 79 Question Id : 47163917086 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0.33
Let the equations of the two regression lines be 7X —4Y =28 and 2Y — 7X = 14.
Then, the correlation coefficient between X and Y 1s
Options :
1/v/2
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Boc DS ( regression) Ba( line) © DAEGEeD 7Xx-4y = 28 2B 2y — 7x = 14

1. ¢

€9:05003°0.€95)CD X 2080310 Y @ 206 D3 D02I0EDES —-----

Options :
1

1 ¢ \'"'2

Question Number : 80 Question Id : 47163917087 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Let Z; and Zs be two independent N (0, 1) random variables. Define X = Z; and

Y = pZ1 + /1 — p?>Zs, where p € (—1,1). Then, the correlation coefficient

between X and Y 1s
Options :

)

1.¢f
Question Number : 80 Question Id : 47163917087 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Z1208030Z, enBocd Do N (0. 1) cire g weorsven.
pE(—L1), X = Z oy = pZ1+ 1 — pZ, aDEETTo.

2 X S0doin Y © Suay D Ddoeosbesgan (Correlation Coefficient) ------ £9:9)e3008

Options :



1.« P

Question Number : 81 Question Id : 47163917088 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Consider the following statements:
[. An index number may be defined as a measure of the average change in a group of
related variables over two different situations.
II. All the commodities included in the index number are always of equal importance.
Which of the above statements is/are correct?
Options :
1 « Only I

Question Number : 81 Question Id : 47163917088 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
& Sob) PIVTOD e3E oTo.

1. 208 RDE Doy (Index number) & BocDBYEH :oooo"?)oé‘ 2020056 HOTPHID) DTS’

D070 Sordyy g, S © 09 DEIoDIN.
ILRPE Doaxes” Send exdtd D) DRVPRD DTSR FANaBI SDACTETOD.

2 DTS JB/ D DBFHID

Options :
i« laaesan

Question Number : 82 Question Id : 47163917089 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Let pp and p; denote the prices of a commodity in suitable units in two
situations denoted by ‘0’ and ‘1’. Now, consider the following statements:

I. The actual change in the price of the commodity from ‘0" to ‘1" is given by p; — py.
I[I. The relative change in the price of the commodity from ‘0’ to ‘1’ is given by po/p1.
Which of the above statements is/are correct?

Options :
1 o Onlyl



Question Number : 82 Question Id : 47163917089 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

3ot D D VoSTES” 28 D) DD 0 Py BOKVP; TP HBOLVTTAN. VOETHRID
‘0’ obBasw 1" e (bBgro.
& S08 DIVTON 3WE oTro.

l. DY Densd 0" Aol 1 & DPYIDED TPYDOTT AP, — Pp  BDB0B.
1. 0" oo " & DYINHED DY) Dees® Doerobed Soeady (relative change) Po eryes0d.
Py

2 DI’ B/ HBIDID?
Options :
Question Number : 83 Question Id : 47163917090 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

Consider the following statements:
[. In construction of index numbers, the base period should not be too short.

II. The average price for that period may smooth out some mmportant fluctuations.

Then
Options :

>  11s true but II is not the correct explaination for L

Question Number : 83 Question Id : 47163917090 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

& S8 RIVTOD e3E oTo.

[. 2PE oI .06&06&)@(.‘_) ese°0 Dawodo (hase period) eodd ::)x)‘l& SPEPED.

Il. &5 D30ODES” E'D) DD wdacde (fluctuations) B0 VTG Ded DBBE.
292G

Options :

5. o | Dazadw. | 8, 11 2BGES DSGes (explanation) see.

Question Number : 84 Question Id : 47163917091 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.33

Which one of the following is NOT a method of forecasting?

Options :
5 « Interpolation

Question Number : 84 Question Id : 47163917091 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

& S0d 763e5° DB 2P Lredd (forecasting) DG .

Options :

, 033350 (Interpolation)
3. ¥

Question Number : 85 Question Id : 47163917092 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Consider the following statements:

[. In time series analysis, business cycles always show regular periodicity.
II. The cyclical variations are of a longer duration than a year.

Which of the above statements is/are correct?
Options :
5 « Only II
Question Number : 85 Question Id : 47163917092 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

& Sob DIVTO 30E otro.

l. s 363 DQQCRS‘ 353*’0 %o (Business cycle);)g_,):g_)bw g0 ea:)ga".i')l (regular periodicity) D
CPaR00.

Il. &80 Desseren (Cyclic Variations) 2,€ DodeGo Soe3 Iy S k0.

2 RoTrees’ DB/ HBHHD
Options :

5 o Il Soeedan

Question Number : 86 Question Id : 47163917093 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



You are given the trend equation:
Y =35—2X; origin:1995; time umt : 1 year.
If we shift the origin to 2008, the trend equation will be
Options :
L@ Y=9-2X
Question Number : 86 Question Id : 47163917093 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

299 (trend) PAEGRADY = 35 — 2x;
areo (Origin) : (1995;
sroDaomeR0 (time unit): 100 | 2men @5 S.

20rerd) 2008 & 270 DS (trend) DDIECHRAD......c.... £95)e0008.

Options :
i o g

Question Number : 87 Question Id : 47163917094 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Consider the following statements:
. Semi-average method, for measuring the trend, assumes parabolic relationship be-
tween the plotted points.
II. Semi-average method, for measuring the trend, i1s affected by the extremes in either
half or both halves of the series.
Which of the above statements is/are correct?

Options :
5 o Only II

Question Number : 87 Question Id : 47163917094 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



& So8 POVTON e3E oTro.

. 25,8 (trend) o Fencoersd e9g — Homod (Semi — average) DGS B0 DotdaHe D0asy
Horodewon (Parabolic) ©ogodo & 20EDE &otnod.

Il. 25,8 (trend) S0 Eencioerd eg — Hodd (Semi — average) HDPB “3ed (Series) cag); 2.8
ffo To Bocd VTP 030E), esedioed (extreme) Soe Herd DA (DB 90 (affected by).

;g.éoé‘l 2edare) BCND 7

Options :

5 & [l Soeesan

Question Number : 88 Question Id : 47163917095 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Consider the following statements:

I. If the period of moving average happens to coincide with the period of cyclical
fluctutions in the data. such fluctuations are automatically eliminated.

II. On using the moving average method, the shape of the trend is determined by the
statistician’s choice of a mathematical function.

Which of the above statements is/are correct?

Options :
i ¥ Only 1
Question Number : 88 Question Id : 47163917095 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

& Sod DIBTO aRwEomro.

l. € erosan (data)es® wed QAT AIE). 3360 (Period of moving average) ea:056 wSab

erocergen (Cyclical fluctutions ) & DEHDY) es eroerge Aesyogorr (automatically) Sefodeceran.

II. S0 Jdragare DES (moving average method) &0 e:)cﬁr'ﬂo&.ﬁ‘oa%ss TR B am‘l@;o‘l e3¢y

2200 T°O° & GIDE) 9SG0 ( shape of the trend) & .‘Z)gwo._ajcb

2 Doarees’ B/ DBEDD

Options :
: o} ST



Question Number : 89 Question Id : 47163917096 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Given the trend equation: Y = 16 + 3.X, where X units are in years and Y is the
annual production of television sets. The monthly trend equation is given by

Options :

. Y=g
2. ¥ ~

|

+ 35X

w

Question Number : 89 Question Id : 47163917096 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

298 (trend) HAEOEAL 1 Y = 16 + 3Y ( BE),E X 905 DoIBGAON 0BT  Yerndd

R09e36000e5° B0IFED Breecyd (Television set) © Xoad BeVIND) 9D ARLAIA.

R9ENED DVB DI DAEGEIAD -~~~
Options :
1
g Vg TR

Question Number : 90 Question Id : 47163917097 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The equation of the geometric trend is Y = 15(0.5)¥. If the origin is
shifted backward by two years, the resulting trend equation 1s given by
Options :

3 ¢ Y =60(0.5)

Question Number : 90 Question Id : 47163917097 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
2PgOBOD PSS (geometric trend) G308, PAEGEaA Y = 15 (0.5) duredotdad)ad ot

RODTTRD DS 20DB, T DO Sy DD VAEGEIV------=

Options :
Y = 60 (0.5)

Question Number : 91 Question Id : 47163917098 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



The equation of the exponential trend is Y = ae®X. Given that there are
10 data points with > X =1 and ) InY = 17. If the trend was fitted by the method of

least squares, the value of a 1s
|

Options :
s
Rl &

Question Number : 91 Question Id : 47163917098 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Doreros @ (exponential trend) a3g), DAEGRAD Y = aeX,

2

S X=120800 ) InY = 17. evcioger 10 SSDoO) 0 D.

£33 Y (least square):)cge;'é TPQO° 23R SoIrdm 3 @ G3DE), DRDD......
Options :
12
R des

Question Number : 92 Question Id : 47163917099 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Consider the following statements:
[. Laspeyre’s indices have an upward bias.
II. Fisher’s index formula satisfies the factor reversal test.
Which of the above statement(s) is/are correct?

Options :
5 o Both I and 11

Question Number : 92 Question Id : 47163917099 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
& S0 RIVTO esE oTro.

. €°20038 Qredsen (Laspeyre’s indices) < e:gsana) Jr2<es (Upward bias) &otnod.
II. 206y D€ (Fisher'sindex) Qo 9008, 5008 D80S (factor reversal) D850
D08y DAL,

2D BewHRdd DIBTOES IB/ID DBTHID?

Options :



& o 20803 1l, BochAa

Question Number : 93 Question Id : 47163917100 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

[f the Paasche’s and Laspeyre’s index numbers are 175 and 112, respectively,
then, the Fisher’s index number is

Options :

5 140

Question Number : 93 Question Id : 47163917100 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Fraa0doin (SN Vo RRLLARALE MY (Paasche's and Laspeyre’s Index numbers) gaoore

175 20Basin 112 evand 26y (Fisher's Jards doay-------

Options :
5 @ 140

Question Number : 94 Question Id : 47163917101 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The Laspeyre’s and Paasche’s index numbers are 145 and 125, respectively.
Then, the Dorbish-Bowley’s index number 1s

Options :

o)

Question Number : 94 Question Id : 47163917101 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

P00 SoBoID oD SVEASEREE VO ( the Laspeyre's and Paasche's index numbers) gavore 145 208ain
125 e900083 &6 D & (Dorbish — Bowley's ) Qord)d STV SR

Options :

3 o 135

Question Number : 95 Question Id : 47163917102 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



The equation of the exponential trend is Y = ae?X. Given that there are
20 data points with 3" X =0, ¥ X2 =30, ¥ InY =20In3 and ¥ X InY = 60. If the

trend was fitted by the method of least squares, the values of a and b are, respectively

Options :

Question Number : 95 Question Id : 47163917102 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
ararod DG (exponential trend ) d&goman Y = aehX.
oo Y X =0, Y X2=130, Y lnY =20In3 a8aso 3" XInY = 60. exclogexd
20 5o DocoaDen WA, Y ¢ (least square) DHSLET® DB BOITW DY 9N
S0t @ <0das b SRELSEROLIL IS UL
Options :
oo 5
Question Number : 96 Question Id : 47163917103 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33
Consider the following statements:

I. Ratio-to-trend method 1s also known as percentage-to-trend method.

II. Ratio-to-trend method assumes that seasonal variation for a given month is constant
fraction of trend.

III. In ratio-to-trend method, the trend values are obtained by the semi-average method.
Which of the above statements is/are correct?

Options :
| @ Only I and I1

Question Number : 96 Question Id : 47163917103 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



& S0d DadsTON ST orro.
. DB — Qo — DS (Ratio-to-trend) DB T30 - Aok~ PB (percentage-to-trend)
0GB €9 LT .

I1. 208 Dees® coetd Dot Moo (seasonal variation) 9038, D (trend) alog); 6 DY o (constant

fraction) — e9D DA~ o~ DO DSBS HB(IEES DS BE oL,

lll. DB — doc. — B (Ratio-to-trend) HGS 5 DD e &0 — 2B (semi-average) HGS oo

Focsrerdd.

DI BORAD PISTRES’ DB/ DD DBFID?
Options :

| 0Bt 11 g
1.V N

Question Number : 97 Question Id : 47163917104 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Given the following information:

Group Weight | Group index
Food 40 150
Fuel 10 110
Lighting 10 105
Clothing 10 180
Miscellaneous 30 130

The consumer price index is

Options :
aQ k&

Question Number : 97 Question Id : 47163917104 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



& Sod daormrdo (information) VDI

HAEEAD Tor DEHD) DR (For 59)
ag:m(group) (Weight) A0S (grouplindex)
es:58Ga00 (Food) 40 150
Qocdan(Fuel) 10 110
Dened(Lighting) 10 105
a@m)en(Clothing) 10 180
acaeD (P 30 130
D303 ) (Miscellaneous)
DG A oo e (Price Index) ---------- 29:9)E008.
Options :
> « 138.5

Question Number : 98 Question Id : 47163917105 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Given the following information:

Group Weight | Group index
Food 40 250
Fuel and lighting 30 200
Miscellaneous 30 3

If the consumer price index i1s 196, the value of z will be
Options :
5 « 120
Question Number : 98 Question Id : 47163917105 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

& S0d Darerdo (information) @Dse.)c‘.:)&.

QIPTP00D (Ale v y)) QTR S
group Weight group Index
esa3%ca00 (Food) 40 250
ROGDABOID 30 200
e (Fuel and
Lighting)
Racanen (oroe :

_ 30 X
DS0D) (Miscellaneous)

DDAIF e 36 arws (Price Index) 958 196 €903 x cansb DNy ————



Options :

Question Number : 99 Question Id : 47163917106 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

For the section of middle class people in Hyderabad and Lucknow, we

have the following information:

Groiip Group Weight
index | Hyderabad | Lucknow
Food T 70 60
Other items Yy 30 40

If the consumer price indices for Hyderabad and Lucknow are 106 and 108, respectively,
the values of r and y are, respectively

Options :

> « 100, 120

Question Number : 99 Question Id : 47163917106 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
P EPTREPCL0 001D o&‘l (Hyderabad and Lucknow ) &5° 20655 €618 €ht00D0) 2,8 23S,
& Sob DTG0 .

ISFhb -0 o b)) RaTPTTRPS 22Ed)
group group Index Weight
FFCSTET GO og‘l
e3355Ga00 (Food) X 70 60
@GR
(Other Items) y 30 40

POPTRECD S0B0in ogloe‘.) DDA P Goe Aradd (Price Index) avore 106 208030 108 esonndd
S0 X805 VO30, enaen —---==

Options :
5 100,120

Question Number : 100 Question Id : 47163917107 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

The geometric mean of Laspeyre’s and Paasche’s index numbers 1s 132

while their difference is 23. Then. the Dorbish-Bowley’s index number is

Options :



Question Number : 100 Question Id : 47163917107 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
@PRNAIT SBOID a2 ( Laspeyre’s and Paasche’s ) dg 2030 (e G0 (geometric mean) 132,
S0B03L 08 BEa 23 o omro. 9N &b Da &7eF (Dorbish — Bowley's ) dra)d Do) ~--- £9:)¢8008).
Options :
3 ¢ 132.5

Question Number : 101 Question Id : 47163917108 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Who invented the binary number system in 1703?

Options :
7 Gottfried Wilhelm Leibniz

Question Number : 101 Question Id : 47163917108 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
170365° 856 50826 DR DM ST 02

Options :
FODE DS 1), 0D S
1.¢

Question Number : 102 Question Id : 47163917109 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Convert the given decimal number to its binary equivalent-
4210=

Options :

4 W 1010102

Question Number : 102 Question Id : 47163917109 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

&2 S00 QOEIERD GO Do @D 856 QSDOTY L AONoC. 4210=

Options :

. » 101010



Question Number : 103 Question Id : 47163917110 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

In hexadecimal number system base is
Options :
i, & 16

Question Number : 103 Question Id : 47163917110 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Sy ERES Hoerd DYoeS” B -
Options :
1. ¢ 16

Question Number : 104 Question Id : 47163917111 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The largest single digit in octal number system is-
Options :
a ¢ 7

Question Number : 104 Question Id : 47163917111 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
es5e5 Hoed Dﬁazgé“ 3G DoNeS Hoerd

Options :
4. ¢ 7

Question Number : 105 Question Id : 47163917112 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The decimal equivalent of octal number 2057 is-

Options :

1o 107110

Question Number : 105 Question Id : 47163917112 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

@gei Hoexd 2057 Edaes 6695@095 L

Options :



i W 107110

Question Number : 106 Question Id : 47163917113 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The decimal equivalent of hexadecimal number 1AFs is-

Options :
v 43110

-
A

Question Number : 106 Question Id : 47163917113 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

D757y ERDES H0ed 1AFis ERS WS(DT0S —

Options :

Question Number : 107 Question Id : 47163917114 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which of the following statement is not correct about hexadecimal number?
Options :

2 bits are sufficient to represent any hexadecimal number in binary.
4. v

Question Number : 107 Question Id : 47163917114 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
TPSmy E0DES D085 3 D0210B0L) €2 08 TES” IO VVHG S?
Options :
BO0ES” 2 757y ERDE HoLIDRD BHF0ES BSATEPIZT 2 DEFy DBV .
4. v

Question Number : 108 Question Id : 47163917115 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
ASClI stands for-

Options :

o5 American Standard Code for Information Interchange.

Question Number : 108 Question Id : 47163917115 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.33

& DR N D D e90E] -

Options :
BES Froct E'E DO NS Qo S0
4

Question Number : 109 Question Id : 47163917116 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

In EBCDIC code, maximum possible characters set size is-
Options :

4 256

Question Number : 109 Question Id : 47163917116 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
QDD 90 IE) .g°01)€36 DOI SBEG 5 DB -

Options :

&N 256

Question Number : 110 Question Id : 47163917117 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Match List- | with List- Il and select the correct answer codes given below the lists-

List- | List- I
a. 8Bits 1. 1 Peta Byte
b. 1024 Tera Byte 2. 1 Yotta Byte
c. 1024 Brontobyte 3. 2 Nibble
d. 1024 Zetta Byte 4. 1 Geop Byte

Question Number : 110 Question Id : 47163917117 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



B 1D DY 2 20 S01oc. &5 BATS 06 RDRICD VT EEy & DYool

Q-1 -2
) 8 Dexy 1. 1 e 8365
D) 1024 o365 2. 1 chogr 865
D) 1024 23S ¢5° 365 3.2 Jexyes
&) 1024 Ser £65 4. 12035 86
Options :
D3 D-1 D4 &-2
1.

Question Number : 111 Question Id : 47163917118 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

A set of step by step procedures for accomplishing a task is known as-

Options :

i Algorithm

Question Number : 111 Question Id : 47163917118 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 112 Question Id : 47163917119 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

A flow chart that outlines the main segments of a program-

Options :
DELETED

Question Number : 112 Question Id : 47163917119 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 113 Question Id : 47163917120 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is not a characteristic of algorithm?
Options :
5 & Ambiguous

Question Number : 113 Question Id : 47163917120 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 114 Question Id : 47163917121 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

A computer uses ASCII for its internal representations of characters. In which order will this

computer sort the strings 23, Al, 1A, a2, 2a, aA and Aa?

Options :
1 « 1A<23<2a<Al<Aa<al<aA

Question Number : 114 Question Id : 47163917121 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :

i JA<23<Za<Al <Aa<a2<aA

Question Number : 115 Question Id : 47163917122 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

To move to the previous worksheet press-

Options :



@ Ctrl+PgUp

Question Number : 115 Question Id : 47163917122 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
D006 BVD D), 225 3 DHEPDS DD 2D S0°D?

Options :
, 085°e5 + DS e9Dd
i, B

Question Number : 116 Question Id : 47163917123 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which function will you use to enter current date and time in a worksheet cell?

Options :

Question Number : 116 Question Id : 47163917123 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :

T

Question Number : 117 Question Id : 47163917124 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
At the end of the financial year after sale of goods worth Rs. 2.00,000, there was a closing stock of Rs.
10,000. Thus 1s:

Options :

L o An event

Question Number : 117 Question Id : 47163917124 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 118 Question Id : 47163917125 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

On inter- state sale of goods, which of the following account 1s credited:
Options :

5 « Output IGST Account

Question Number : 118 Question Id : 47163917125 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 119 Question Id : 47163917126 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Heavy 1nitial advertising expenses on infroducing a new product in the market should be classified as:
Options :

3 o Deferred revenue expenditure

o

Question Number : 119 Question Id : 47163917126 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
ArY)ES &) w8 FY HWPY DDTDHID 2r0Fr00eS” HELIVD DD

DAND & 306 Dore a@saooam‘).

Options :
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Question Number : 120 Question Id : 47163917127 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which of the following should be considered a revenue expenditure?

Options :

.  Damages paid on account of breach of contract to supply certain goods.
3 )

Question Number : 120 Question Id : 47163917127 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 121 Question Id : 47163917128 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The credit balance of a personal account shows:

Options :

5 WP The amount payable

Question Number : 121 Question Id : 47163917128 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 122 Question Id : 47163917129 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
A list which contains balances of accounts to know whether the debit and credit balances are matched.

Options :

4 Trial Balance

Question Number : 122 Question Id : 47163917129 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 123 Question Id : 47163917130 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The total of the Purchase Day Book 1s posted periodically to the:



Options :
1 « Debit of Purchase account

Question Number : 123 Question Id : 47163917130 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 124 Question Id : 47163917131 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Bank balance shown in the Balance Sheet 1s of:

Options :
5  Adjusted Cash Book

Question Number : 124 Question Id : 47163917131 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :

Question Number : 125 Question Id : 47163917132 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Cheques received from debtors and deposited with the bank, but not yet realized before year end, should
be shown in the Balance Sheet:

Options :
& As part of bank balance

Question Number : 125 Question Id : 47163917132 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 126 Question Id : 47163917133 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Stock- in- trade does not include
Options :
» Iltems held as fixed assets

=2
)

Question Number : 126 Question Id : 47163917133 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 127 Question Id : 47163917134 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Sales on approval becomes sales and accounted when:
Options :
Customer conveys his acceptance or the time allowed to him has expired and he has not returned

4 « the goods, whichever occurs first

Question Number : 127 Question Id : 47163917134 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 128 Question Id : 47163917135 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The balance 1n the Petty Cash Book is:
Options :



3 « An asset

Question Number : 128 Question Id : 47163917135 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 129 Question Id : 47163917136 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Ledger 1s a book 1n which:
Options :
Assets, Liabilities, Capital, Income and Expenses Accounts are maintained

Question Number : 129 Question Id : 47163917136 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 130 Question Id : 47163917137 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
A final Bank Reconciliation Statement should contain items which are:

Options :
5>  Pending i the bank pass book only

Question Number : 130 Question Id : 47163917137 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 131 Question Id : 47163917138 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.33

Which one of the following 1s not a clerical error?
Options :

5  Error of principle

Question Number : 131 Question Id : 47163917138 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 132 Question Id : 47163917139 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which financial statement represents “ASSETS = LIABILITIES + CAPITAL” the accounting equation?
Options :

5  Balance sheet

Question Number : 132 Question Id : 47163917139 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
5
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Question Number : 133 Question Id : 47163917140 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which of the following have contra entries?

Options :

i Three column cash book

Question Number : 133 Question Id : 47163917140 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 134 Question Id : 47163917141 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Identify the incorrect statement related to debt service ratio?

Options :

N A country’s international finances are healthier when this ratio 1s high

Question Number : 134 Question Id : 47163917141 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 135 Question Id : 47163917142 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
FRBMA 2003 emphasizes on the following except one. Identify that one?

Options :
Improve competitiveness of deomestic goods and services in the globalised economic environment

Question Number : 135 Question Id : 47163917142 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 136 Question Id : 47163917143 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

What 1s the Crowding — in effect of deficit spending by the government?

Options :



G Rise 1n private mvestment and operation of acceleration principle.
1. ¥

Question Number : 136 Question Id : 47163917143 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 137 Question Id : 47163917144 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

According to third working group of RBI in which measure of money supply, the time

Liabilities portion of the savings deposits of the banking system are included?
Options :
3 ¢ M2

Question Number : 137 Question Id : 47163917144 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :

Question Number : 138 Question Id : 47163917145 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which of the following currencies 1s not included in the SDR basket of IMF?

Options :
4. Swiss Franc

Question Number : 138 Question Id : 47163917145 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 139 Question Id : 47163917146 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
In the year 2011-12, out of 1000 people. in the population 395 persons were in the labour Force

according to Usual Status. Persons unemployed are 9. Find out the work force participation rate?

Options :
5 « 977

Question Number : 139 Question Id : 47163917146 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :

Question Number : 140 Question Id : 47163917147 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Given the following four possibilities which results 1n an increase 1 total

consumer expenditure?

Options :

i Demand 1s inelastic and price rises

Question Number : 140 Question Id : 47163917147 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 141 Question Id : 47163917148 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

Which of the following reasons 1s responsible for the right word shift of the demand curve?

Options :



-  Increase i the price of the substitute good
o

Question Number : 141 Question Id : 47163917148 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 142 Question Id : 47163917149 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The marginal utilities of product ‘X" and product “Y” are 300 and 450 respectively
at equilibrium. If the price of product ‘Y~ 1s Rs. 60, what 1s the price of product ‘X’
at equalibrium?
Options :

| @ Rs.40

Question Number : 142 Question Id : 47163917149 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
1 ¢ ar.40

Question Number : 143 Question Id : 47163917150 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The Kinked demand curve model of oligopoly assumes —
Options :

~ Response to price increase 1s less than the response for a price decrease
4. v

Question Number : 143 Question Id : 47163917150 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 144 Question Id : 47163917151 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
“White Plan™ prepared by Harry Dexter White represented which country?

Options :
> « America

Question Number : 144 Question Id : 47163917151 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
5 ¢ 05T

Question Number : 145 Question Id : 47163917152 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Kindle Berger’s Formula to measure the optimum tariff?

Options :

1 Ti=1/e-1

Question Number : 145 Question Id : 47163917152 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1 Ti=1/e-1

Question Number : 146 Question Id : 47163917153 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Greater cash reserve ratio.
Options :

1 « Lower will be the value of deposit multiplier

Question Number : 146 Question Id : 47163917153 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 147 Question Id : 47163917154 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The term “Inflation policy” implies

Options :

4 ¢

There is no erosion of purchasing power of money and There is no or little social cost of inflation are true

Question Number : 147 Question Id : 47163917154 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 148 Question Id : 47163917155 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which of the following explanations are part of Rosenstein Rodan’s Theory of Economic Development?

Options :
o Social Overhead Capital 1s the most important instance of indivisibility

Question Number : 148 Question Id : 47163917155 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 149 Question Id : 47163917156 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which of the following 1s called Bretton Woods Twins?

Options :



IMF and IBRD

Question Number : 149 Question Id : 47163917156 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
o ¢ DD DD BTV D D es6 &

Question Number : 150 Question Id : 47163917157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Name the Economist who has listed Eight effects of tariffs
Options :
>  Kindle Berger

Question Number : 150 Question Id : 47163917157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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